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1. Which three terms does HP OpenView Storage Area Manager use to identify device links? (Choose three.)
A. logical

B. physical

C. associative

D. user-defined

E. customer-defined

Answer: ABD

2. Which three features are provided by the HP Open View Storage Area Manager device maps? (Choose three.)
A. displays integration status with other applications

B. provides graphical display of device and link status

C. provides charting capabilities for reporting on devices

D. displays collections of discovered devices in a topology

E. provides a launching point for device management applications

Answer: BDE

3. Click the Exhibit button.
el Mapped Devices [Physical Map]
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What are two possible causes for the status of the host sb-juba on the map in the exhibit? (Choose two.)
A. The Dial service/process is not running.

B. The Watchdog service/process is not running.

C. Ethernet connectivity has been lost on SB-Juba.

D. Fibre channel connectivity has been lost on SB-Juba.

E. The Hostagent service/process is not running on SB-Juba.

Answer: CE

4. Click the Exhibit button.
el Mapped Devices [Physical Map]
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What are two possible causes for the status change of the HP StorageWorks Virtual Array on the map shown in the exhibit? (Choose
two.)

A. The array is powered off.

B. A disk has failed in the array.

C. One of the redundant controllers has failed.

D. One of the redundant power supplies has failed.

E. The only host connected to the array is turned off.

Answer: AE

5. Which fibre channel switches display inactive zones in HP OpenView Storage Area Manager?
A. Cisco

B. McData

C. Brocade

D. all switches

Answer: C

6. Which fibre channel switches display both active and inactive zones in HP OpenView Storage Area Manager?
A. Cisco

B. McData

C. Brocade

D. all switches

Answer: C

7. Organizations are common to which two HP OpenView Storage Area Manager applications? (Choose two.)
A. Storage Builder

B. Storage Allocator

C. Storage Optimizer

D. Storage Accountant

E. Storage Node Manager

Answer: AD

8. What must you do to create an arbitrary folder?

A. select Add Arbitrary Folder under Tools

B. select New Folder under Organization Members

C. right click on any node in the Resource tree and select New Folder
D. right click on Folders in the Applications tree and select New Folder
Answer: C

9. Which two statements are true about HP OpenView Storage Area Manager Arbitrary folders? (Choose two.)
A. They support nesting.

B. They are visible from the Applications tree.

C. They enable thresholds to be set on groups of resources.

D. They are exclusive (a member can only belong to one folder).

Answer: AD

10. Regardless of what is selected in the GUI, global application links are always available from
A. the main menu

B. the SOLID Server database

C. specific application interfaces

D. command line interface format (CLIF)

Answer: A

11. Application links in HP OpenView Storage Area Manager can be linked to . (Choose three.)
A. a device class

B. the Tools Menu

C. a specific device

D. the Resource tree

E. the Application tree

Answer: ABC
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12. Which file can be edited to specify the location of the SOLID Server database?
A. solid.ini

B. solid.cfg

C. SanManager.ini

D. SanManager.cfg

Answer: A

13. The Host Agent runs on each host connected to the SAN and communicates to the management server via .
A. RMI
B. RPC
C.JDBC
D. SNMP
Answer: A

14. What does the Device Discovery and Topology (DDT) component do? (Choose two.)
A. stores device and topology data in a log file

B. sends alerts based on topology map changes

C. uses SNMP to discover IP-based storage elements

D. uses DIAL on the SAN hosts to discovery in-band storage elements

Answer: CD

15. Which two HP OpenView Storage Area Network Host Agent components are involved in storage device discovery? (Choose two.)
A. DIAL

B. CLUI server

C. SCSI gateway

D. SNIA HBA gateway

Answer: AC

16. HP OpenView Storage Area Manager discovers devices through . (Choose two.)
A. DIAL on the SAN hosts

B. SNMP from the SAN hosts

C. DIAL on the management server

D. SNMP from the management server

E. API queries to the fibre channel infrastructure devices

Answer: AD

17. When are device status, performance, and capacity-related events displayed in the GUI?
A. when links are displayed in the device map

B. when devices are placed in the directory tree

C. when the applicable applications are installed and licensed

D. when devices are associated with their unknown placeholders

Answer: C

18. When an HP OpenView Storage Optimizer event is generated, to what component is it forwarded?
A. SNMP gateway

B. JCORE process

C. Event Status Poller (ESP)

D. Event Action Receiver (EAR)

Answer: D

19. What does the Event Action Receiver (EAR) do?

A. formats MIB data for action handling

B. uses DIAL to send information for actions to be performed

C. sends data to SNMP Trap Processor (STP) and Event Status Poller (ESP)

D. receives events from Event Status Poller (ESP) and SNMP Trap Processor (STP) and performs specified actions
Answer: D
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20. With the use of the Software Development Kit (SDK), any device vendor can create a that enables previously unsupported
devices to be monitored by HP OpenView Storage Optimizer.

A. script

B. trigger

C. property file

D. Device Plug-In (DPI)

Answer: D
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